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OLL Algorithms (Orientation of Last Layer)

Developed by Feliks Zemdegs
and Andy Klise

Algorithm Presentation Format

H . Round brackets are used to segment algorithms to
Suggested algorithm here assist memorisation and group move triggers.
Alternative algorithms here
|] OLL Case Name - Probability = 1/x It is recommended to learn the algorithms in the
— order presented.

All Edges Oriented Correctly

[ RU2R'URU'R RUR'URU2'R’ H
yRURUR U2R yRUZRURUR
[ ocLL6 - 26 - Probabiity = 1/54 OCLLY - 27 - Probability = 1/54
[ 7] (RU2R) (U'RUR) (U'RU'R) bt 11 B 11 B {1 H
Y(RURU)RU R U) (R UZR) RU2'R2'U'R2 U'R2' U2'R
OCLL1 - 21 - Probabilty = 1/108 OCLL2- 22 Probabilty = 1/54 H
(rUR'U) (FFRF) yF(rUR'U)rFR {
y(RURD)(R'URD)R2 x(R'UR)D'(R'U'R)Dx
OCLL4 - 24 - Probabiliy = 1/54 OCLL5 - 25 - Probabilty = 1/54
R2D (R'U2R) D' (R' U2R))
y2R2'D'(RU2R) D (R U2R)
OCLL3 - 23 - Probabilty = 1/54
T-Shapes
(RUR'U) (R'FRF) F(RUR U)F ”

T1 - 33 - Probability = 1/54 T2 - 45 - Probability = 1/54 H




Squares

l(ruzRUR UY (rU2R'U'RU'Y)
81 - 5 - Probability = 1/54 S2 - 6 - Probability = 1/54

11
1u

C-Shapes

|RURZ U) RFRU)RUF RU(RFRF)UR
C1 - 34 - Probability = 1/54 C2 - 46 - Probability = 1/54
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W-Shapes

J(R'U'RU)(R'URU)IUR Ux o
[Y2RURF)(RURU)(RFRU) (R'FRF) (RUR'U)(RU'R'U)(R'FRF)

WA - 36 - Probability = 1/54 W2 - 38 - Probability = 1/54
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Corners Correct, Edges Flipped

(fUR'U)M(URU'R) (RUR'U)M (URU'F)
E1 - 28 - Probability = 1/54 E2 - 57 - Probability = 1/108
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P-Shapes

RUB'(U'R'U)(RBR)
S(RURU)(R'FRf)
P2 - 32 - Probability = 1/54

(RU'F)(URUR)FR
P1 - 31 - Probability = 1/54

lyRU'FUFR f(RUR'U)F
”f‘(L'U'LU)f y2F(URU'R) F
” P3 - 43 - Probability = 1/54 P4 - 44 - Probability = 1/54
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I-Shapes

H

fRUR'U)(RUR U)F
y2F (URU'R) (URU'R)F
11 - 51 - Probability = 1/54
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[(RURURU)Y (RUR)B
H (RUR'URU)Y(RU'R)F'
[ 12.- 52 - Probability = 1/54
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Fish Shapes

]

(RUR'U)R'F(R2UR'U") F'
[RURyrUruUryr
F1 -9 - Probability = 1/54

”(R U2) (R2’ FRF) (RU2'R))
F3 - 35 - Probability = 1/54
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Knight Move Shapes
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[(rUr) (U rUF)F UF)
FURUR2FRU(RUR)
K1 - 13 - Probability = 1/54
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(rUr)(RURU)(rU'r)
H K4 - 16 - Probability = 1/54
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Awkward Shapes

[MURUR U)R FRF)M
| A1 - 29 - Probabiliy = 1/54
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A3 - 41 - Probability = 1/54

Ho

y(RUR'U) (RU'R)(F'U'F) (RUR)

(RUR'URU2'R)F(RUR'U)F

FUT(URUR)(URUR)FUr
14 - 56 - Probability = 1/108

y(RFRU)(RU'R2F)R2U'R' (URUR))

13 - §5 - Probability = 1/108

(RUR'U)(R'FRF)(RU2'R)
(RUR)y (R FRU)(RF'R)

F2 - 10 - Probability = 1/54

F(RUR'U)(RUR'F)
F4 - 37 - Probability = 1/54

(RRFR)(UR'F'R)(FU'F))
K2 - 14 - Probability = 1/54

(rUnRURU (U
K3 - 15 - Probability = 1/54

y'FU((RU2R'U)(RU2R'U)F'
y (FR'F) (R2U'R'U) (RUR) F2

A2 - 30 - Probability = 1/54
(RRU'RU'R'U2R)F(RUR'U) F'
Yy(RFRF)(RFRF)(RURU)RUR)
A4 - 42 - Probability = 1/54
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L-Shapes

FRURU)(RUR U)F
L2 - 48 - Probability = 1/54

rU'r2Ur2Ur2'U'r

L3 - 49 - Probability = 1/54

[(r 'RU) (RURUY)R U2
yrU2R(URUR)(URUY

| L5 - 53 - Probability = 1/54

Lightning Bolts
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(rUR'URU2'r)
B1 - 7 - Probability = 1/54

|]I"(RZUR'URUZR')UM'

B3 - 11 - Probabilty = 1/54
LF)(L'ULYFUL
F(RURU)F (R U'RUR U2R)
| B5 - 39 - Probabiliy = 1/54

No Edges Flipped Correctly

e e

[——

| 01 -1 - Probability = 1/108

03 - 3 - Probability = 1/54

[—]

rUR'URU2r) (MU' RU'R"U2r)
06 - 18 - Probability = 1/54

05 - 17 - Probability = 1/54

l(RU2) (R2FRF)U2 (R'FRF)

[fRUR'UNFU'F(RUR U)F

yRU2 (RZFRF)U2'M (URU'F)

(RUR'U)(RFRF)U2 (R'FRF)

F(LULU)(L'U'LU)F
RUR®RFRF)(RFRF)UR

L1 - 47 - Probability = 1/54
rur2U'r22U'r2Ur'

Y (RU2RU'RU'R)F(RUR'U)F
L4 - 50 - Probability = 1/54
(rUR'U)(RU'R'U)RU2'Y

y rU2RU)(RURU)RU'F

L6 - 54 - Probability = 1/54

(rU'RU'R"U2Y)

y2I'U'LuU' LUzl

B2 - 8 - Probability = 1/54
M'(RRU'RU'R'U2R)U'M
yF(RUR'U)FUF(RUR'U)F
B4 - 12 - Probability = 1/54
(RF)(RUR'U)FUR

B6 - 40 - Probability = 1/54

FRURU)Ff(RURU)F
y(rUr)U2RU2'R'U2(rU'r)
02 - 2 - Probability = 1/54

fRUR'U)fUF(RURU)F
04 - 4 - Probability = 1/54

MURUR U)M (R'FRF)
07 - 19 - Probability = 1/54

MU(RUR U)M2' (URU'r)
(rUR'U)M2 (URU'R)U'M
08 - 20 - Probability = 1/216
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